LIARL Q= S8 &

=5 4Y/HIE o[0ix|

L

THE:
AEL

AHQIYA AE!1.4305.
0§ OfR2|:

'é XM ALSE Z{2|, AR AT 12.9.
EHR{E|El AEH|QIHA AL AHQIMA A AT A2-70.

OR[>

HH.

LIAHALO| Q= 23 E 20| SUSHH EHliEl= H2o 2 7}
ZAMI &Lt

EYE 22 ANE 5{8% 52 690l (2t EE LIAAMD &7 AR E
A Ol

T U&Lch.

B IlE

[0
1]

25 Hel:

-40 °C ~+175 °C

=
R B
O
gl &
Z= Qo
LIAPI U= 2dE Y
FEHS = xE B C D1 D2 R
SfLEAL
K0986.0401 AEl 9 M3x8 M4 16 20,7
K0986.0501 AE 9 M3x8 M5 16 20,7
K0986.0601 AE! 9 M3x8 M6 16 20,7
K0986.0801 S 9 M3x8 M8 18 22,4
K0986.1001 AE 9 M3x10 M10 24 26
K0986.1201 AE 11 M4x12 M12 28 31,8
K0986.1601 AE 13 M5x16 M16 34 394
K0986.2001 AE 15 M6x18 M20 40 46,4
K0986.0402 AHQIBA AR 9 M3x8 M4 16 20,7
K0986.0502 AE|QlEA A 9 M3x8 M5 16 20,7
K0986.0602 AE|QlEA A 9 M3x8 M6 16 20,7
K0986.0802 AHQIBA AR 9 M3x8 M8 18 22,4
K0986.1002 AHQIEA AR 9 M3x10 M10 24 26
K0986.1202 AE|QlEA A 11 M4x12 M12 28 31,8
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



[ ]
ol= Salm| 2
LIAPZ = 2WE E
£S5 29
EE A B c D b2 R
SFLPA
K0986.1602 AE|QlEA AE] 13 M5x16 M16 34 39,4
K0986.2002 AHQIBA AR 15 M6x18 M20 40 46,4

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/2



